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L =6.40, RHIfTH

PIPAON

LosL/ 4.9 N
| E— L
2.00 1.05
c 27, 27 16, 16
MO 43 25
Q 21, 21 13, 13

PAE 4.0kN/m (C = 13, MO = 20, Q = 12 )
£ c() =58, CR) =58, MO =89, Q(L) = 48, Q(R) = 48

RCHMEIC L Z2ZEMITE—RA L N EEBME (BAOEHEER: §)
Hh 4, s gk Aue o D/L 5 (8/L)
O- @ 35 51 69 /11 1.1 (1/580)
@ ® 58 45 58 1/11 0.8 (1/784)
®- @ 69 51 35 /11 1.1 (1/580)
G Bl Bl
VAR O} o @i @y S @i
[l B x D = 30.0x 55.0 B x D = 30.0x 55.0
dt 6.2 6.2 6.2 6.2 6.2 6.2
g £y E |4 -D19 | 3 -D19 | 4 -D19 | 4 -D19 | 3 -D19 | 4 -D19
7] T |3 -D19 | 3 -D19 | 3 -D19 | 3 -D19 | 3 -D19 | 3 -D19
(pt) (0. 78) (0.59) (0. 78) (0. 78) (0.59) (0. 78)
ML (FiE)|  35(0.32)] 51(0.63)] 69(0.64)] 58(0.53)] 45(0.56)] 58(0.53)
Mcr
& AF7y7 2-D10@200 | 2-D10@200 | 2-D10@200 | 2-D10@200 | 2-D10@200 | 2-D10@200
A pw 0. 24) (0.24) (0. 24) (0. 24) (0.24) (0. 24)
b QL (BexE)|  48(0. 48) 48(0.48)]  48(0. 48) 48(0. 48)
1.00 1.00 1.00 1.00
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24X0.25X0.50X1.05 = 3.2 kN

2'00[ 1.05[@ 132
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2.00 3.10 3. 10
C 34, 34 22, 22 2, 2
MO 54 32 5
Q 26, 26 17, 18 1, 1

PHE 4.0kN/m (C = 13, MO = 20, Q = 12 )
GEHE C(@) =73, C(R) =73, MO = 112, Q(L) = 59, Q(R) = 59

RCHIMEIZ L 2RRFHITE— A v b B R (EMOFHEE: 8)

Hh 4, s gk AuE o D/L 5 (8/L)
O- @ 43 64 88 /11 1.4 (1/470)
@ ® 73 57 73 1/11 1.0 (1/638)
®- @ 87 64 44 /11 1.4 (1/468)
G Bl Bl
VAR O} o @i @y S @i
[l B x D = 30.0x 55.0 B x D = 30.0x 55.0
dt 6.2 6.2 6.2 6.2 6.2 6.2
g £y E |4 -D19 | 3 -D19 | 4 -D19 | 4 -D19 | 3 -D19 | 4 -D19
7] T |3 -D19 | 3 -D19 | 3 -D19 | 3 -D19 | 3 -D19 | 3 -D19
(pt) (0. 78) (0.59) (0. 78) (0. 78) (0.59) (0. 78)
ML (FiE)|  43(0.40)] 64(0.79)] 88(0.81)] 73(0.67)] 57(0.70) 73(0.67)
Mcr
& AF7y7 2-D10@200 | 2-D10@200 | 2-D10@200 | 2-D10@200 | 2-D10@200 | 2-D10@200
A pw 0. 24) (0.24) (0. 24) (0. 24) (0.24) (0. 24)
b QL (exE)|  59(0.59) 59(0.60)] 59(0.59) 59 (0. 60)

1. 00 1. 00 1. 00 1. 00

a
a/)Y-b Fe24, FERh SD345, A¥7y7° SD295




B2 (JH=ED~OIH)

AFR L- R

L =3.30, RHIMH

S

>

Ol~1 ~3

0
T

)

C
M
Q LT
PHHE 3.0kN/m (C=2, MO =4, Q=
AEHME c() =13, C(R) =13, M0 = 20, Q(L) =20, QR = 20

RCHIMEIZ L 2RRFHITE— A v b B R (EMOFHEE: 8)

44, s ek Aue o D/L 5 (8/L)
L- R 7 16 7 /6 0.2 (1/1702)
nEs B2
VAR Lk o Rk
[l B x D = 25.0x 50.0)
dt 6.0 6.0 6.0
wh £y E |3 -D16 | 3 -D16 | 3 -D16
1] T |3 -D16 | 3 -D16 | 3 -D16
(pt) (0.54) (0.54) (0.54)
ML (Fa7E) 7(0.17)]  16(0.34) 7(0. 17)
Mcr
B AF7y7 2-D10@200 | 2-D10@200 | 2-D10@200
A pw (0.28) (0. 28) (0. 28)
b QL (exE)|  20(0. 26) 20 (0. 26)
1.00 1.00
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24X0.30X0.55X9.75/2 = 19.3 kN

2.28] e 1A 260 a1 | 193

[\—1 | I

4. 00 4.00 4.00

C 53, 56 59, 63 15, 19

Mo 88 99 31

Q 34, 36 37, 40 8, 11

PEEE 5. 4kN/m (

GEtE C(L) = 153, C(R) = 162, MO = 255, Q(L) = 99, Q(R)

C =24, MO = 36, Q = 19)

= 108

RCHIMEIZ L 2RRFHITE— A v b B R (EMOFHEE: 8)

Hh 4, s ek Aue D/L 5 (8/L)
@- G 92 200 97 /9 2.7 (1/270)
nEs B3
VAR @i o O
[l B x D = 30.0x 75.0
dt 6.2 7.9 6.2
g £y E |4 -D19 | 4 -D19 | 4 -D19
1] T |4 -D19 | 4/ 2 -D19 | 4 -D19
(pt) (0. 56) (0. 86) (0. 56)
ML (FaiE)| 92(0.58)] 200(0.90)  97(0.62)
Mcr
B AF7y7 2-D10@200 | 2-D10@200 | 2-D10@200
A pw 0. 24) (0.24) (0. 24)
b QL (exE)|  99(0.7D) 108(0.77)
1.00 1.00
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4252 =84kN/m %i%ggfalﬁlkN
IIH(} 2.40 8.4 | 1.00 I 10.1
A
C 10 6 12
Q 17 10 10
PHE 2.4kN/m (C=1, Q=2)
AEHME C =30, Q =40
e CB1
N Uit o Ui
Wr B x D 5 20.0x 50.0
dt 8.5 6.0 6.0
W ¥/ E [2/ 2 -Di6 | 2 -D16 | 2 -D16
7] T |2 -D16 | 2 -D16 | 2 -D16
(pt) (0.96) (0. 45) (0. 45)
ML (BE)|  300(0.64)
Mcr 26 24 24
TH Ai797 2-D10@200 | 2-D10@200 | 2-D10@200
A (pw) (0. 35) (0. 35) (0. 35)
Wi QL ()| 40(0. 48)
1.43 1.00
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